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E-7033
M.Com. (IIIrd Semester)

Examination, 2021
COMMERCE

(Advanced Cost Accounting)

Time Allowed : Three Hours

Maximum Marks : 70

veesš : meYeer KeC[eW kesâ Gòej efveoxMeevegmeej oerefpeS~

Note : Attempt all sections as per instructions.

KeC[ - De

SECTION - A

veesš : efkeâvneR ome ØeMveeW kesâ Gòej oerefpeÙes~ ØelÙeskeâ ØeMve Skeâ Debkeâ keâe

nw~ 10×1=10

Note : Attempt any ten questions. Each question carries

1 mark.

Q. 1. efjòeâ mLeeveeW keâer hetefle& keâefjÙes :

Fill in the blanks :

(i) ............ Éeje hetefle&keâlee&DeeW keâer efveÙegefòeâ keâer peeleer nw~

Suppliers are selected by _______.

(ii) DeÛÚer cepeotjer oj mes ........... keâes efveÙebef$ele efkeâÙee pee

mekeâlee nw~

______ can be controlled by better wage

rate.

(iii) keâejKeevee ueeie · ........... ± keâejKeevee GheefjJÙeÙe~

Work cost = _______ + works overhead.

(iv) ........... cegKÙe Glheeo kesâ meeLe mJeÙeb ner yeve peelee nw~

_______ produces itself alongwith the main

product.

(v) Øeceehe uesKeebkeâve kesâ Devleie&le ........... oj keâe ØeÙeesie

efkeâÙee peelee nw~

In standard costing _______ rate is used.

mener Gòej ÛegefveS :

Choose correct answer :

(vi) JeemleefJekeâ ueeiele Deewj Øeceehe ueeiele kesâ ceOÙe Deblej keâes

keânles nQ :

(De) ueeYe

(ye) Yesoelcekeâ ueeiele

(me) efJeÛejCe

(o) megj#ee meercee
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The difference between actual cost and

standard cost is known as :

(a) Profit

(b) Differential cost

(c) Variance

(d) Margin of safety

(vii) efvecveefueefKele ceW mes keâewve meer ceo ueeiele KeeleeW ceW Meeefceue

veneR keâer peeleer nw :

(De) Øeehle yÙeepe

(ye) Øeehle ueeYeebMe

(me) $e+Cehe$eeW hej yÙeepe

(o) Ùes meYeer

Which of the following item is not included in

cost accounts :

(a) Interest Received

(b) Dividend Received

(c) Interest on Debentures

(d) All of these

(viii) lesue GÅeesieeW ceW keâewve-meer efJeefOe ØeÙegòeâ nesleer nw :

(De) "skeâe ueeiele efJeefOe

(ye) Øeef›eâÙee ueeiele efJeefOe

(me) heefjÛeeueve ueeiele efJeefOe

(o) Ùes meYeer

In oil industries which method is used :

(a) Contract costing

(b) Process costing

(c) Operating costing

(d) All of these

(ix) efveefJeoe lewÙeej efkeâÙee peelee nw :

(De) ceeue keâer mehueeF& mes hetJe&

(ye) ceeue keâer mehueeF& kesâ yeeo

(me) Glheeove kesâ meceÙe

(o) FveceW mes keâesF& veneR

Tender is prepared :

(a) Before the supply of goods

(b) After the supply of goods

(c) At the time of production

(d) None of these
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(x) efJe›eâÙe ueeiele nw :

(De) cepeotjer

(ye) heweEkeâie ueeiele

(me) #eÙe ueeiele

(o) mLeehevee ueeiele

Selling cost is :

(a) Wages

(b) Packing cost

(c) Wastage cost

(d) Establishment cost

(xi) cepeotjer Yegieleeve keâer heæefle nw :

(De) meceÙe oj heæefle

(ye) keâeÙee&vegmeej oj heæefle

(me) neumes ØeyÙeeefpe heæefle

(o) FveceW mes meYeer

Method of wage payment is :

(a) Time rate method

(b) Piece rate method

(c) Halsey premium plan

(d) All of these

(xii) meece«eer keâes meJe&ØeLece Øeehle keâjlee nw :

(De) iesškeâerhej

(ye) mšesjkeâerhej

(me) ØeyebOekeâ

(o) ßeefcekeâ

The first person who received material is :

(a) Gate keeper

(b) Store keeper

(c) Manager

(d) Workman

KeC[ - ye

SECTION - B

(Deefle ueIeg GòejerÙe ØeMve)

(Very Short Answer Type Questions)

veesš : efkeâvneR heeBÛe ØeMveeW keâe Gòej oerefpeS~ ØelÙeskeâ ØeMve kesâ 2 Debkeâ

nQ~ DeefOekeâlece Meyo meercee 25-30 Meyo~ 5×2=10

Note : Attempt any five questions. Each question carries 2

marks. Maximum word limit 25-30 words.
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Q. 2. (i) meece«eer efveie&ceve keâer Ûeej heæefleÙeeW kesâ veece efueefKeÙes~

Write name of four methods of material

issuing.

(ii) keâejKeevee GheefjJÙeÙe ceW efkeâvnW Meeefceue efkeâÙee peelee nw ?

Which are included in works overheads ?

(iii) Glheeove Keelee keâes mecePeeFÙes~

Explain production account.

(iv) Ûeeuet keâeÙe& keäÙee nw ?

What is work in progress ?

(v) Øeceehe ueeiele efJeefOe kesâ cetue lelJe keäÙee nQ ?

What are the elements of standard costing ?

(vi) Devlej Øeef›eâÙee ueeYe keäÙee nw ?

What is Inter-Process Profit ?

(vii) heefjÛeeueve ueeiele efJeefOe keâer oes efJeMes<eleeÙeW yeleeFÙes~

Explain two characteristics of operating cost

method.

KeC[ - me

SECTION - C

(ueIeg GòejerÙe ØeMve)

(Short Answer Type Questions)

veesš : keâesF& heeBÛe ØeMve keâjW~ ØelÙeskeâ ØeMve 4 DebkeâeW keâe nw~ DeefOekeâlece

Meyo meercee 250 Meyo~ 5×4=20

Note : Attempt any five questions. Each question carries

4 marks. Maximum word limit 250 words.

Q. 3. (i) ØeceeheeW kesâ cegKÙe Øekeâej keäÙee nw ?

What are the main types of standards ?

(ii) efvecve metÛeveeDeeW mes mecetn ueeiele Deheveeves Jeeueer Skeâ

keâcheveer kesâ efueÙes efceleJÙeÙeer DeeosMe cee$ee keâer ieCevee

keâerefpeÙes :

Jeeef<e&keâ GheYeesie 4,000 FkeâeFÙeeb

›eâÙe keâjves keâer Øeefle FkeâeF&

DeeosMe ueeiele 60 `

Øeefle FkeâeF& cetuÙe 10 `

ieesoece Je Jenve ueeiele Deewmele meece«eer keâer ØeefleMele

kesâ DeeOeej hej – 3 `
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Compute the economic order quantity for a

company using batch costing with the

following information :

Annual consumption 4,000 units

Buying cost per order 60 `

Price per unit 10 `

Storage and carrying cost as percentage

of average inventory – ` 3.

(iii) cepeotjer Yegieleeve keâer neumes Ùeespevee keâes mecePeeFÙes~

Discuss Halsey plan of wage payment.

(iv) FkeâeF& ueeiele keâer keäÙee efJeMes<eleeÙeW nQ ?

What are the characteristic features of unit

costing ?

(v) DehetCe& "skesâ hej ueeYe-neefve keâe efveOee&jCe kewâmes efkeâÙee

peelee nw ?

How to determination of incomplete contract ?

(vi) mebÙegòeâ Glheeo Je Gheeslheeo ceW Deblej yeleeFÙes~

Explain distinction between joint product and

by product.

(vii) heefjÛeeueve ueeiele efJeefOe efkeâve mesJeeDeeW Je JÙeJemeeÙeeW hej

ueeiet nesleer nw ?

To what services or businesses is operating

costing applied ?

KeC[ - o

SECTION - D

(oerIe& GòejerÙe ØeMve)

(Long Answer Type Questions)

veesš : keâesF& leerve ØeMve keâjW~ ØelÙeskeâ ØeMve 10 DebkeâeW keâe nw~ DeefOekeâlece

Meyo meercee 500 Meyo~ 3×10=30

Note : Attempt any three questions. Each question carries

10 marks. Maximum word limit 500 words.

Q. 4. (i) Skeâ JÙeJemeeÙe ie=n kesâ heefjJÙeÙe uesKeeW Éeje efoKeeÙes ieÙes

Megæ ueeYe Je efJeòeerÙe uesKeeW Éeje efoKeeÙes ieÙes Megæ ueeYe

ceW Deblej nw~ Fme Deblej kesâ keâejCeeW keâes mecePeeFÙes~ Skeâ

GoenjCe Yeer oerefpeÙes~

There is a difference between the profit shown

by cost accounts and the profit shown by

financial accounts of a business concern.

Explain the reasons for the difference. Give an

example also.
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(ii) efvecveefueefKele efJeJejCe mes "skeâe mebKÙee 5 Keelee yeveeFÙes

leLee efveefJeoe cetuÙe %eele keâerefpeÙes :

`

ØeÙegòeâ meece«eer 3,000

Glheeokeâ cepeotjer 2,300

ØelÙe#e JÙeÙe 250

keâejKeevee GheefjJÙeÙe kesâ efueÙes Glheeokeâ ßece hej 60%

leLee keâeÙee&ueÙe GheefjJÙeÙe nsleg keâejKeevee heefjJÙeÙe hej

12.5% keâe ØeeJeOeeve keâefjÙes~ efveefJeoe cetuÙe hej 15%

ueeYe ueieevee nw~

From the following particulars, write up the

contract No. 5 account and find out the value

of the tender :

`

Material used 3,000

Productive wages 2,300

Direct expenses 250

Provide 60% on productive wages for works

overhead and 12.5% on work cost for office

overhead. Profit to be realised 15% on the

tender price.

(iii) Skeâ efvecee&Ceer JÙeJemeeÙe ceW ‘De’ Øeef›eâÙee keâe Glheeo ‘ye’

Øeef›eâÙee keâes nmleevleefjle efkeâÙee peelee nw~ DevegYeJe Ùen

jne nw efkeâ ØeJesefMele FkeâeFÙeeW keâe ‘De’ Øeef›eâÙee ceW 5% leLee

‘ye’ Øeef›eâÙee ceW 10% meeceevÙe #eÙe neslee nw~ meeceevÙe

#eÙe keâe DeJeMes<e cetuÙe ‘De’ Øeef›eâÙee ceW 50 ` Øeefle 100

FkeâeF& leLee ‘ye’ Øeef›eâÙee ceW 80 ` Øeefle 100 FkeâeF& nw~

JÙeÙe efvecveefueefKele Les :

Øeef›eâÙee ‘De’ Øeef›eâÙee ‘ye’

` `

meece«eer 10,000 6,000

ßece 8,000 4,000

efvecee&Ce JÙeÙe 2,000 2,000

Øeef›eâÙee ‘De’ ceW 1000 FkeâeFÙeeW ves 5,000 ` keâer ueeiele

hej ØeJesMe efkeâÙee~ Øeef›eâÙee ‘De’ ceW 900 FkeâeFÙeeW SJeb

Øeef›eâÙee ‘ye’ ceW 750 FkeâeFÙeeW keâe Glheeove ngDee~

Øeef›eâÙee Keeles yeveeFÙes~

In a manufacturing concern, the output of 'A'

process is transferred to process 'B'. It has

been the experience that normal wastage in
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process 'A' is 5% of the units and in case of 'B'

10% of the units entering the process. The

scrap value of normal wastage is ̀  50 per 100

units in process 'A' and ` 80 per 100 units in

process 'B'. The expenses were as follows :

Process 'A' Process 'B'

` `

Materials 10,000 6,000

Wages 8,000 4,000

Manufacturing expenses 2,000 2,000

In process 'A', 1000 units were entered at a

cost of ̀  5,000. The output of pocess 'A' is 900

units and process 'B' 750 units.

Prepare Process Accounts.

(iv) efvecveefueefKele metÛevee mes Skeâ Deeje ceMeerve kesâ efueÙes ceMeerve

IeCše oj efvekeâeefueÙes :

`

(1) Deeje ceMeerve keâe ›eâÙe cetuÙe 90,000

(2) jsueJes YeeÌ[e SJeb {gueeF& 6,000

(3) ceMeerve mLeehevee JÙeÙe 4,000

(4) ceMeerve keâe peerJeve Øeefle Je<e& 2,000 keâeÙe&Meerue

IeCšeW kesâ DeeOeej hej 10 Je<e&

(5) cejccele JÙeÙe — Üeme keâe 50%

(6) efJeÅegle Meefòeâ keâe GheYeesie — Øeefle IeCšs 10 FkeâeF& @

2 ` Øeefle FkeâeF&

(7) efÛekeâveeF& lesue – 8 IeCšs kesâ Øeefleefove kesâ efueÙes 4 `

(8) GheYeesiÙe mšesme& – 8 IeCšs Øeefleefove kesâ efueÙes 20 `

(9) ceMeerve mebÛeeuekeâ keâer cepeotjer – 8 IeCšs kesâ Øeefleefove

kesâ efueÙes 40 `

From the following information work out the

machine hour rate of a saw mill :
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`

(1) Purchase price of saw mill 90,000

(2) Railway freight and carriage 6,000

(3) Machine installation charges 4,000

(4) Life of machine – 10 years at 2,000

wokring hours per year.

(5) Repair charges – 50% of depreciation

(6) Consumption of electric power – 10

units per hour @ ` 2 per unit

(7) Lubricating oil – @ ` 4 per day of 8

hours

(8) Consumable stores – @ ` 20 per day of

8 hours

(9) Wages of machine operator @ ` 40

per day of 8 hours

——


